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QUESTION 1

What is true when deferrable triggers of a state specify triggering events?

A. are of lower priority

B. will be consumed after the state is exited

C. are ignored in that state

D. will be consumed when a state in which they are no longer deferred is reached

Correct Answer: D

QUESTION 2

A protocol state machine can be used to describe which aspect of a component?
A. configuration of an assembly

B. external contract of a component

C. signal flow among connectors

D. internals of a component

Correct Answer: B

QUESTION 3

What characteristic does a behavior port possess?

A. owns the behavior of the classifier that owns the port

B. must have a protocol state machine

C. has its own behavior that is distinct from the behavior of the classifier

D. relays any incoming messages directly to the behavior of the owning object
E. defines the behavior that the owning classifier must realize

F. is a kind of behavior

Correct Answer: D

QUESTION 4

What objects receive a signal sent by a Broadcast Signal Action?

Latest OMG-OCUP2-INT200 Dumps | OMG-OCUP2-INT200 PDF Dumps | OMG-OCUP2-INT200 Practice2Tie3t


https://www.geekcert.com/omg-ocup2-int200.html
https://www.geekcert.com/omg-ocup2-int200.html
https://www.geekcert.com/omg-ocup2-int200.html

GeekCert.com

A. objects that are instantiated from classes in the package of the action
B. all objects

C. objects are determined by semantic variation

D. objects that are on the same node as the actions

E. all objects that have a reception for the signal

Correct Answer: C

QUESTION 5

What situation results from performing a Create Object Action on an abstract class?
A. undefined behavior

B. arbitrary object of one of its subclasses being created

C. exception being raised

D. error log entry created

E. object of the specified class being created

Correct Answer: A
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